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Isar1(MYE1F, 10, 200)

Locally Stationary AR Modeling

<<<newdata(n=11---210) >>>
initial model : NS = 200

<<< newdata(n=1011---1210) >>>
switched model : ( nf = 400, ns =200)

ms =9 sds= 9.533019e-01 aics=  578.011 ms=9 sds= 4.807289e+01 aics = 3801.690
pooled model : ( np = 600)
mp =10 sdp = 3.864933e+01 aicp = 3917.444
<<< newdata(n=211---410) >>>
switched model : ( nf =200, ns = 200) *** switched model accepted ***
ms =8 sds = 7.571863e-01 aics= 1107.957
pooled model : (np = 400) <<< new data (n = 1211 --- 1410 ) >>>
mp =9 sdp= 8.775778e-01 aicp = 1102.915 switched model : ( nf = 200, ns = 200 )
*** pooled model accepted *** ms =9 sds= 3.470873e+01 aics = 2659.093
pooled model : ( np = 400)
mp =8 sdp = 4.308581e+01 aicp = 2658.428
<<< new data (n =411 ---610) >>>
switched model : ( nf =400, ns = 200) *** pooled model accepted ***
ms =8 sds = 7.353224e-01 aics = 1627.001
pooled model : (np = 600)
mp =9 sdp = 8.567912e-01 aicp = 1629.990 <<<newdata (n = 1411 --- 1610 ) >>>
*** switched model accepted *** switched model : ( nf = 400, ns = 200)
ms =10 sds = 1.764112e+01 aics = 3822.050
pooled model : (np = 600)
<<< new data (n =611 --- 810) >>> mp =8 sdp = 3.582855e+01 aicp = 3867.973
switched model : ( nf =200, ns = 200)
ms =4 sds = 2.372409e+01 aics = 1734.960 *** switched model accepted ***
pooled model : (np = 400)
mp =10 sdp = 1.255320e+01 aicp = 2169.141
*** switched model accepted *** <<< new data (n =1611--- 1810 ) >>>
switched model : ( nf = 200, ns = 200 )
ms =9 sds= 1.032457e+01 aics= 2218.103
<<< new data ( n=3811--- 1010) >>> poo|ed model : ( np = 400)
switched model : ( nf = 200, ns = 200) mp =10 sdp = 1.447380e+01 aicp = 2226.087
ms =4 sds = 2.701266e+01 aics = 2447.710
pooled model : (np = 400) **% gwitched model accepted ***
mp =10 sdp = 2.468140e+01 aicp = 2439.571
*** pooled model accepted ***
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data(MYE1F) data(MYELF)
Isar2(MYELF, 10, ¢(400,800), c(600,700)) Isar2(MYE1F, 10, c(800,1200), c(1000,1100))
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. 1
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2, Py DPG)

x <- Isar2(MYEL1F, 10, c(400,800), c(600,700))
AICP <- x%aic

post <- exp( -(AICP-min(AICP))/2)

post <- post/sum(post)

plot( post, type="I", col="red"“ )
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x <- Isar2(MYELF, 10, c(400,800), c(600,700))
AICP <- x$aic
post <- exp( -(AICP-min(AICP))/2)

post <- post/sum(post)
plot(post,type="1",col="red",lwd=2)
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